Formula Masking Part One Review
Plateau Masking

· Plateau masking is important to know, and you will still plateau mask with conductive loss cases (unless you just can’t, e.g. ABR).

What is Formula Masking and Why Do It?

· Formula masking involves making an educated guess about what the masked threshold will come in at, and setting the masking level to be enough to mask that level (and signals that are a bit louder or a bit quieter), without over masking.  Input masking noise, obtain threshold. Double check: could the threshold have been under masked? Could that threshold have been elevated by over masking?  Adjust noise if needed, but if your checks indicate you have neither under or over masked, you are “good to go.”
· Formula masking is needed in word recognition testing, and in ABR testing.  You can’t plateau.

· Formula masking is desired for speed when the loss is sensorineural.  The requirement of masked bone in each ear to bill a 92557 (complete audio) makes it imperative that you can test efficiently.

What Do You Need to Know to Be Ready to Formula Mask.

· You have to be able to figure out how much sound is possibly crossing to the non-test ear COCHLEA.

· Signal level minus interaural attenuation (assume minimum values: 50 insert, 0 bone for tones).
· Not yet covered, but soon to come.  If you are testing by bone conduction, that crossed over signal level increases because of the occlusion effect.

· When we get to formula masking per se, you won’t calculate based on the level you are presenting, instead you will think ahead – guess – what the masked threshold will be.  That level minus interaural attenuation will be your estimate of the cross over level.

· You have to be able to figure out how much noise to put in the non-test ear to ensure elimination of cross hearing.

· The contralateral noise level at the NTE cochlea has to be equal to or louder than the signal at the NTE cochlea.

· Conductive loss in the non-test ear reduces the effectiveness of the masking noise. The level at the cochlea is presentation level of the noise minus non-test ear air bone gap.  You turn the noise level up to compensate for NTE air-bone gaps.
· You have to be able to determine if the masking noise could be crossing back and over masking.

· The noise crosses “back” by bone conduction. The crossed back level is equal to the (AC) masking noise presentation level minus the AC interaural attenuation value.
· Remember that the noise is shaking the head, creating the cross back.  A conductive loss does not reduce the cross back.

· If the crossed back noise is equal to or greater than the signal level at the TEST ear COCHLEA, then over masking is a problem (presuming that the test ear signal is loud enough to have been heard.)

Back to the Plateau

· During the under-masking phase, sound is crossing over. Each time you raise the masking noise by X dB, the threshold shifts by X dB.

· Once you exclude the non-test ear from participating, then increasing the noise in the non-test ear should not change threshold.   

· That is, until you are over masking.  When the non-test ear noise is loud enough to cross back to the test ear, then each X dB increase in noise causes the threshold to increase by X dB.

· When plateau masking, you look for a 15 dB plateau.  Ordinarily, the plateau is much larger than that.

· A shortcut mentioned in class was, when plateau masking, rather than increasing in 5 dB steps three times, try turning it up 15 dB in one step!  If that doesn’t alter threshold, then you are done; you have saved two responses.  If that doesn’t work, go back down and carefully plateau.

· Air-bone gaps in the non-test ear reduce the size of the plateau.

· There may be times when a 10 dB plateau (or even 5) is all you can find. If it is reliably there, note that comment; mark the masked symbol with an asterisk.

Resources

www.audstudent.com – resources – “when to mask” and “masking fundamentals” 

You have to allow pop ups to see the answer.

